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ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ (Ѐ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ-

ЀЀЀ — ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ).  

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 5-7 ЀЀ. — 2,5 ЀЀЀЀ, ЀЀЀ 8 

ЀЀ. — 3 ЀЀЀЀ, ЀЀЀ 9 ЀЀ. — 3,5 ЀЀЀЀ, ЀЀЀ 10-11 ЀЀ. — 4 ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ.  

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀ — Ѐ ЀЀЀ ЀЀ ЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ: 

610005, Ѐ. ЀЀЀЀЀ, 5, Ѐ/Ѐ 1026, ЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, 

Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 7 

ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ 0 Ѐ ЀЀ ЀЀЀЀЀЀЀ 7, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ). Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀ 4, ЀЀ ЀЀЀЀЀЀ – ЀЀ ЀЀЀЀ 3.  

3. ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ •. Ѐ ЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀ Ѐ Ѐ  Ѐ Ѐ Ѐ  Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ  
7 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

6 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
5 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

4 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

3 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

1-2 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

0 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀ: 

� ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ; 

� ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ; 

� ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ; 

� ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ), ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. 

4. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ «ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ). ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀ Ѐ Ѐ.Ѐ. 

5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 

ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ.  

6. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ. ЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ, 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

7. ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ — ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. 3623. 

♦ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ ЀЀ 3. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ: 0 Ѐ 6, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 0, ЀЀ ЀЀЀЀЀ 0 Ѐ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 6, Ѐ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ — 7 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. Ѐ 9.00 ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 6 

ЀЀ/Ѐ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. Ѐ 

12.00 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ 10 ЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀ x ЀЀ. ЀЀЀЀЀ ЀЀ 3 ЀЀЀЀ, Ѐ 9.00 ЀЀ 12.00, ЀЀ ЀЀЀЀЀЀ x+(x–2) = 2x–2 ЀЀ. ЀЀЀ ЀЀЀ ЀЀ ЀЀЀ 

ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 6 ЀЀ/Ѐ, 2x–2 = 6⋅3 = 13 ЀЀ, ЀЀЀЀЀЀ x = 10. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ — 1 ЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. «ЀЀЀЀЀЀ», ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ 6 ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ «ЀЀЀЀЀЀ» ЀЀ 6 ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — 7 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀ, 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ 

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀ — ЀЀЀЀЀ». 

ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ». ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀ — 

ЀЀЀ? ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀ Ѐ ЀЀЀЀ — ЀЀЀЀЀ, ЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀ — ЀЀЀЀ: 

ЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀ — ЀЀЀЀ 

ЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀ — ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀ — ЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ — ЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ — 1 ЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ — ЀЀ 2 ЀЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ — ЀЀ 4 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ 30 ЀЀЀЀЀЀЀ — ЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ — 

ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 
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ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

— ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, 

ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 2-ЀЀ ЀЀ 6-ЀЀ). ЀЀ-

ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ 30 ЀЀЀЀЀЀЀ ЀЀ 15 ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 15 ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀ 10 ЀЀЀ-

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

10 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀ 6 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 6 ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 15+10+6 = 31, Ѐ ЀЀ ЀЀЀЀЀЀ 30. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 6 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 3 3 ЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ, — ЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 30:2 = 15 Ѐ Ѐ.Ѐ. — ЀЀ ЀЀЀЀЀЀ 3 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 6 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀ ЀЀ, ЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀ 5 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ — 1 ЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀ ЀЀ, ЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 5 ЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — 7 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. ЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀ-ЀЀЀЀЀЀЀ; ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ). ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 15 ЀЀЀЀЀЀ, ЀЀЀЀЀ — Ѐ 23 ЀЀЀЀЀ, ЀЀЀЀ — Ѐ 20 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. 24 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ (23–15):2 = 4 ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ 

ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ. ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 20+4 = 24 ЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» — 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 34,56 ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 800 

ЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 9 ЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 

34,569 = 34569/100 = 3649/25 ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 364 Ѐ 25 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ 

3649/25 ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 9 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 25. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

9/25 ЀЀ ЀЀЀЀЀЀ 1, ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 364 ЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀЀ 300. 
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• «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» — 0 ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ 25, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ 20 ЀЀЀЀЀЀЀ — ЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ — 

ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ — ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 5 ЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ, — ЀЀЀЀЀЀЀЀЀ 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 7 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 49 ЀЀЀЀЀЀ, ЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ Ѐ 99 ЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 50 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀЀЀ x ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ x+49 = 99x. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀ x = 0,5 ЀЀЀЀЀ = 50 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ — 1 ЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 10°, 20°, 30°, 40°, 50° Ѐ 60°? ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ — ЀЀЀ ЀЀЀЀЀ 10° Ѐ 

ЀЀЀЀЀЀ, ЀЀЀЀЀЀ — ЀЀЀ ЀЀЀЀЀ 30° ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ — ЀЀЀ ЀЀЀЀЀ 20° Ѐ ЀЀЀЀЀЀЀ (ЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀ Ѐ 40° ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ 50° — ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ Ѐ 60° — 

ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — 7 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀ Ѐ ЀЀЀЀЀ 2200 ЀЀЀ-

ЀЀЀ, Ѐ ЀЀ Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ 18 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ Ѐ 

ЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 15 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀ 9 ЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀ 139 ЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀ 

ЀЀЀЀЀЀ — 199 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀ Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, 9 — ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ 2200 ЀЀ 19, ЀЀЀЀЀЀЀ 2200 = 115⋅19+15. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ Ѐ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 115⋅19 = 2135 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ — ЀЀ ЀЀЀЀЀЀ 15 ЀЀЀЀЀЀ. 

• «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» — 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. 20 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀ — ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ: «ЀЀЀЀЀ ЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ?». ЀЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ «ЀЀЀ», Ѐ ЀЀЀЀЀЀЀЀЀ — «ЀЀ»? 

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀ». ЀЀЀЀ ЀЀ 
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ЀЀЀЀ ЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ «ЀЀЀ». ЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ «ЀЀЀ» ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀ ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» — 

0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ. «ЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀ?» — ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀ Ѐ 12.00. «73 ЀЀЀЀ-

ЀЀЀЀЀ»,  —  ЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ 12.15 Ѐ 12.45, ЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ: «62 ЀЀЀЀЀЀЀЀЀ» Ѐ «37 ЀЀЀЀЀЀЀЀЀЀ». ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀ (Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ — ЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ). ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀ. 43 ЀЀ/Ѐ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ 12.00 ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 72,5 Ѐ ЀЀ ЀЀЀЀЀЀ, 

ЀЀЀ 73,5 ЀЀ, Ѐ 12.15 — ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 61,5 Ѐ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 62,5 ЀЀ, Ѐ Ѐ 12.45 — ЀЀ 

ЀЀЀЀЀЀ, ЀЀЀ 36,5 Ѐ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 37,5 ЀЀ. ЀЀЀЀЀЀЀ ЀЀ 15 ЀЀЀЀЀ Ѐ 12.00 ЀЀ 12.15 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 10 Ѐ ЀЀ ЀЀЀЀЀЀ 12 ЀЀ, Ѐ ЀЀ 30 ЀЀЀЀЀ Ѐ 12.15 ЀЀ 12.45 — ЀЀ ЀЀЀЀЀЀ 

24 Ѐ ЀЀ ЀЀЀЀЀЀ 26 ЀЀ. ЀЀЀ ЀЀЀ 15 ЀЀЀЀЀ — ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ, Ѐ 30 ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀ 

ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀ 10×4 = 40 ЀЀ/Ѐ Ѐ ЀЀ ЀЀЀЀЀЀ 

12×4 = 43 ЀЀ/Ѐ, Ѐ ЀЀЀЀЀЀ — ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀ 24×2 = 43 ЀЀ/Ѐ Ѐ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 

26×2 = 52 ЀЀ/Ѐ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀЀЀ 43 ЀЀ/Ѐ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ — 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 8 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 56 ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. Ѐ 112 ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 6 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀ ЀЀЀ. ЀЀ ЀЀЀ 0 ЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ, Ѐ, ЀЀЀЀЀЀЀ ЀЀ 56 ЀЀЀЀЀ 2, 4, 6 Ѐ 3, 

ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 112, 224, 336 Ѐ 443, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ 112 ЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ — ЀЀ ЀЀ-

ЀЀ 2 ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ — 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀ-ЀЀЀЀЀЀЀ; ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ). ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 15 ЀЀЀЀЀЀ, ЀЀЀ — Ѐ 17 ЀЀЀЀЀЀ, ЀЀ — Ѐ 12 ЀЀЀЀЀЀ, ЀЀ-

ЀЀ — Ѐ 21 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ? 

ЀЀЀЀЀ. 17,5 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀ Ѐ ЀЀЀ, ЀЀЀЀЀ, ЀЀЀ Ѐ–Ѐ = 2. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ+Ѐ = 9. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀ ЀЀ 2, ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ = 5,5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀЀ Ѐ. 
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• ЀЀЀЀЀЀ ЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. «ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ» — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ–Ѐ = 2, Ѐ+Ѐ = 9, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ — 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ — 3 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ = 5,5, ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ — 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ — ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ? ЀЀЀЀ ЀЀ — ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ — ЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀ ЀЀЀЀ — ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀ 

ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ) ЀЀЀЀЀ — ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀ ЀЀЀЀЀЀЀЀЀЀ AC ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ABC ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ D Ѐ E, ЀЀЀ AD = AB Ѐ CE = CB. ЀЀ 

ЀЀЀЀЀ D ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ DF ЀЀ ЀЀЀЀЀЀ BE. ЀЀЀЀЀЀЀЀ, 

ЀЀЀ DF = BF. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ∠CAB = α. ЀЀЀЀЀЀЀЀЀ AD = AB Ѐ 

CE = CB, ЀЀЀЀЀ ∠DBA = ∠BDA = (130°–α)/2 Ѐ 

∠EBC = ∠BEC = (130°–(90°–α))/2 = (90°+α)/2. ЀЀЀЀЀЀЀ 

∠DBE = ∠DBA+∠EBC–∠ABC = (130°–α)/2+(90°+α)/2–90° = 45°. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ BFD — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ 4. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 1, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 1. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, — Ѐ ЀЀЀ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀ S ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 3, Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1, ЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ 3, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1,5 — ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

1,5
2
 = 2,25. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ 1/S-ЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 14 ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 1 — ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ. 
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♦ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ 5 9 ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀ 5 10 ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 5 11 ЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀЀ, «ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ») ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ — 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 9 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

(si90°–cos0°)(si91°–cos1°)…(si989°–cos89°)(si990°–cos90°). 

ЀЀЀЀЀ. 0. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ sin45°–cos45°, ЀЀЀЀЀЀ 0. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ A(0,0), B(1,2), C(4,2). ЀЀЀЀ-

ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ y = x ЀЀЀЀЀ ЀЀЀЀ BAC ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ B ЀЀЀЀЀЀЀЀЀЀЀЀЀ BD ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀ 

ЀЀЀЀЀ C — ЀЀЀЀЀЀЀЀЀЀЀЀЀ CE ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ CE = 2 = 2BD, Ѐ EA = 4 = 2DA, 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ BDA Ѐ CEA ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ BAD Ѐ 

CAE. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ 45 ЀЀЀЀЀЀЀЀ ЀЀЀЀ BAX Ѐ CAX, ЀЀЀ X 

— ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ X(1, 1) ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ  

cos∠BAX = 
��������⋅���������

����|��|
 = (1⋅1+2⋅1)/(Ȃ5⋅Ȃ2 ) = 3/Ȃ10, 

cos∠CAX = 
��������⋅���������

����|��|
 = (4⋅1+2⋅1)/(Ȃ20⋅Ȃ2 ) = 3/Ȃ10, 

ЀЀЀЀЀЀ ∠BAX = ∠CAX, ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀ — ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ k, m Ѐ 9. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ-

ЀЀ 2
k
, 2

m
, 2

n
 ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ …x

2
+…x+… = 0 ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ k — ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀ 2
m
x
2
+2

k
x+2

n
 = 0. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ D ЀЀЀЀЀ 2

2k
–4⋅2

m
⋅2

n
 = 2

2k
–2

m+n+2
. ЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀ m, 9 ЀЀЀЀЀЀ, ЀЀЀ k, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀ 1, Ѐ ЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 2. ЀЀЀЀЀЀЀ m+9+2 ≤ (k–1)+(k–2)+2 = 2k–1 < 2k, ЀЀ-

ЀЀЀЀ D = 2
2k

–2
m+n+2

 > 0. 

• ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — 3 ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀ 4 ЀЀЀЀЀЀ. ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1, ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

1/50. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 
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ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 50 ЀЀ ЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ 

ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ 49. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 100 ЀЀЀЀЀ ЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ «ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ — 6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ 2013. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 1, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 1. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀ: ЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, — Ѐ ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 3 ЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

(ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2013
2
–2 ЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ 1. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 1 — ЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀЀ, «ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ») ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ — 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 10 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ (tg
2
1°–3)(tg

2
2°–3)…(tg

2
88°–3)(tg

2
89°–3). 

ЀЀЀЀЀ. 0. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ tg
2
60° – 3, ЀЀЀЀЀЀ 0. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀ ЀЀ, ЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 9 ЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — 3 ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀ 4 ЀЀЀЀЀЀ. ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀ M — ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ABC. ЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ABM, BCM Ѐ CAM ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ABC — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ O1 Ѐ O2 — ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ABM Ѐ ACM ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ K — ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ AM, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ K, ЀЀЀЀЀЀ O1O2 ⊥ AM. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, O1K = O2K. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ AM ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ O1AO2 ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, Ѐ, ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, AO1 Ѐ AO2 — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ BAM Ѐ CAM ЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ O1AM Ѐ O2AM — ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ BAM Ѐ 

CAM, ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀ, ЀЀЀЀЀЀЀ AM ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ABC 

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ABC, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2013. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ)? 

ЀЀЀЀЀ. 75. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ a1, a2, b1, b2, c1, c2 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ (a1+a2)(b1+b2)(Ѐ1+Ѐ2). ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1. ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2013 ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 1: 3⋅11⋅61, 

— ЀЀЀ ЀЀЀ ЀЀЀЀЀ 3, 11 Ѐ 61 — ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

3+11+61 = 75. 

• ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ m×9, ЀЀЀ m Ѐ 9 — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ 1, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1 ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1×1. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ: ЀЀЀ, ЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, — Ѐ ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀ S ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 3, 

Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 1, ЀЀ, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 

3 ЀЀЀЀЀЀ. 

ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

(ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ m9–2 ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ 1. ЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 1, ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 1×1, Ѐ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1. 

• ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ — 1 ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ: «ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ») ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ — 2 ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀ 3 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 11 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 0 ЀЀЀЀ ЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀЀ? 

ЀЀЀЀЀ. 3. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 5 Ѐ 7 ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ 715 Ѐ 517, ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀ: 51936243. 
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• ЀЀЀЀЀЀ ЀЀЀЀЀ «3» — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 3 ЀЀЀЀ — 3 ЀЀЀЀЀ. ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ — 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ — ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ax
2
+bx+c ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ x1 

Ѐ x2. ЀЀЀЀЀ b/a = –(x1+x2) > 0 Ѐ Ѐ/a = x1x2 > 0, ЀЀ ЀЀЀЀ ЀЀЀЀЀ b Ѐ c ЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀ Ѐ 

ЀЀЀЀЀ a. ЀЀЀЀЀЀЀЀ, ЀЀЀ-ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ x ЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀ x
2
 ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ABCDE. ЀЀЀЀЀ F — ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ AB. ЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ CEF Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ AFE, BFC Ѐ CDE. Ѐ ЀЀЀЀЀ ЀЀ-

ЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ AFE Ѐ BFC ЀЀЀЀЀЀ ЀЀЀЀ FE Ѐ FC ЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ G ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ A Ѐ B (ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ Ѐ ЀЀЀ FE Ѐ FC, Ѐ ЀЀЀЀЀЀЀ FA Ѐ FB ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ F ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ AB) ЀЀЀЀЀЀЀЀЀЀЀ 

CGE ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ CDE ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

— 5 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ! 

ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ABCDE — ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ABCD. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ) ЀЀЀЀЀ-

ЀЀ, ЀЀЀ ABCD — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ, AB || CD. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ACDE, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ CD || AE. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ, ЀЀЀ AB || CD || AE, ЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ m×9, ЀЀЀ m Ѐ 9 — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ 1, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1×1, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ: ЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, — Ѐ ЀЀЀ 

ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 10 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

          D 

 
C                          E 
 

                F 

     B                  A 
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ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ m9–2 ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2, ЀЀ ЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 2×1, Ѐ 

ЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1×1. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ, ЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

(ЀЀЀЀЀЀЀ ЀЀЀ Ѐ), ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-

ЀЀЀ 1. 

ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 2. 

ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ-

ЀЀ 3. ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 3 ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, 

ЀЀЀ Ȃ3 > 1,7, Ѐ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

a×b (a ≥ b), ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 3, ЀЀЀЀЀ S = ab ≥ 5. ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ a ЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀ 1/5 ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ S ≥ 5 ⇒ a ≥ Ȃ5, ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀ a ЀЀЀЀЀЀЀ c ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 4Ȃ5/5 > 1,7, Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀ Ѐ/(S–1) ≤ Ѐ/4, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

1/(S–1) ЀЀЀЀЀ ЀЀЀЀЀЀЀ b, ЀЀЀЀЀЀ b(S–2)/(S–1) = 1 Ѐ b = (S–1)/(S–2). ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ a ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ b. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ b(S–1)/S = (S–1)
2
/S(S–2), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 1/(S–1) ЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

[(S–2)/(S–1)]⋅[(S–1)
2
/S(S–2)] = (S–1)/S < 1. ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ (S–1)
2
/S(S–2), ЀЀЀЀЀЀ 2. 

• ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ — 1 ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ — ЀЀ 3 ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ 2×1 — ЀЀ ЀЀЀЀЀ 3 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ XXIII ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ — Ѐ. ЀЀЀЀЀЀЀ): 7-5. 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 2006 Ѐ.: 9-4. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ I ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ. Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ: 10-3. 
Short-list ЀЀЀЀЀЀЀЀЀ Baltic Way, 2004 (Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ): 10-4. 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2008/09 ЀЀЀЀЀЀЀЀ ЀЀЀЀ: 11-2. 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2012/13 Ѐ. 

ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ): ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ 21, 8 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.), 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.). ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ ЀЀ 11 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ): ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀ 

ЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ Ѐ ЀЀЀЀ 
Ѐ. ЀЀЀЀЀЀЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
(ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ): ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀ 
— ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ Ă1 Ѐ. ЀЀЀЀ-
ЀЀ-ЀЀЀЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀ — 
ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 
7 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀ Ѐ ЀЀЀЀ Ă66 Ѐ. ЀЀЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ Ă14 
Ѐ  ЀЀЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ (ЀЀЀ Ѐ ЀЀЀЀ Ă2 Ѐ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.), 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ, 11 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 11 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀ, 11 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ I ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀ, 
ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 9 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ II ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀ Ă5 Ѐ. ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ – ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀ 
(ЀЀЀ Ѐ ЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ 2: ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 2012 – ЀЀЀЀЀЀЀ 2013) 

2-9 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ XVI ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 34 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 29 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ 10-11» ЀЀЀЀЀЀ 3 ЀЀ-
ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-9» — 5 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ. 

30 ЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ XL ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ 58 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 17 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8» 
ЀЀЀЀЀЀ 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7» — 4 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-6» — 4 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

1 – 3 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ.ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. 

16–22 ЀЀЀЀЀЀЀ: XLI ЀЀЀЀЀЀЀЀЀ (ЀXI ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ-
ЀЀЀЀ 68 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 26 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8» ЀЀЀЀЀЀ 6 ЀЀЀЀЀ Ѐ ЀЀЀ-
ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7» — 2 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-
ЀЀЀЀЀ «ЀЀЀЀЀ-6» —3 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5» — 4 ЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ». 

10 (ЀЀЀ 6-8 ЀЀ.) Ѐ 24 (ЀЀЀ 9-11 ЀЀ.) ЀЀЀЀЀЀЀ: ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 10 ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 9-11 ЀЀЀЀЀЀЀ 24 ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. 20 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 6 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 5 ЀЀ.), ЀЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 6 ЀЀ.) 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ 28, 6 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ-
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ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 5 ЀЀ.), ЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. 

21 ЀЀЀЀЀ: 32036 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀ "ЀЀЀЀЀЀЀ-2013". 

25-28 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ V ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ» Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ 239 ЀЀЀЀЀЀЀЀ 6-8 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ 63 ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

12 – 14 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ-
ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ. 

14 ЀЀЀЀЀЀ: XI ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ (Ѐ. ЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀЀ 15 ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ 
ЀЀЀЀЀЀ— ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

23-29 ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 9 ЀЀ.) ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 11 
ЀЀ.), ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 10 ЀЀ.), ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

3–28 ЀЀЀЀ: XXIX ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 435 ЀЀЀЀЀЀЀЀ, Ѐ 
Ѐ. Ѐ. 327 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ., ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ-
ЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ,  ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ-
ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀ, Ѐ. ЀЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-
ЀЀ ЀЀЀЀ, ЀЀЀЀ, ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀ (ЀЀЀЀЀЀЀ), ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ., ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ., ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ. 

31 ЀЀЀЀ – 3 ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ X ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ-
ЀЀЀ ЀЀ. Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. 

4 – 12 ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀXV ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ (Ѐ. ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀ., ЀЀЀЀЀЀЀЀ). ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

22 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ», Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 678 
ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 527 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

27 – 29 ЀЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-ЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀ-5-1 Ѐ ЀЀЀЀЀ-
5-2 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, ЀЀЀЀЀ-6-1 – ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, ЀЀЀЀЀ-6-2 – ЀЀЀЀЀЀ III ЀЀЀ-
ЀЀЀЀ. 

29 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ. ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ), Ѐ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 455 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 491 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀ XXXIV ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 2012/13 ЀЀЀЀЀЀЀ ЀЀЀЀ, 28 
ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

 Ѐ.Ѐ.ЀЀЀЀЀЀЀ, 2013. 


